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Instructions for Candidates

1.

Write your Roll No. on the top immediately on receipt of this question papgr/.

2. Answer any five questions.

3. All questions carry equal marks.

4. Answers may be written either in English or Hindi; but the same medium should
be used throughout the paper.
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1. Distinguish between shift of supply and movement along the supply curve. Discuss
the determinants of supply. {15)
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2. (a) Distinguish between income elasticity of demand and cross price elasticity of

demand. ‘
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An increase in price of coffee from Rs. 40 per 100 gram to Rs. 44 per
100 grams results in an increase in demand for tea from 300 units to
400 units, estimate the cross price elasticity of demand and comment on the
result. (8,7)
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How will you separate the price effect into income effect and substitution
effect for a normal good ?

A consumer consumes two products, X&Y. If he spends his entire income
on X, he can buy 50 units of X and if he spends his entire income on Y, he
can buy 20 units of Y. The market price of Y is given as Rs. 50. Find the
following :

(1) Income of the consumer

(i) Price of product X ‘

(iii) Slope of the budget line . (8,7)
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4. (a) With the help of diagrams explain the concept of returns to scale.

(b) A producer always chooses an optimal input combination to maximize output

subject to a given cost. Explain. (8,7)
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5. (a) “Fixed costis constant at every level of output except zero”. Do you agree ?

Explain.
(b) From the information given below calculate TFC, AFC, AVC, AC and MC;

Quantity TVC TC
0 0 300
1 100 400
2 250 550
3 450 750
4 700 1000
5 1000 1300
6 1350 1650
(5,10)
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RLEN TVC TC
0 0 300
1 100 400
2 250 550
3 450 750
4 700 1000
5 1000 1300
6 1350 1650
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What are main features of perfect competition ? Derive the short run supply
curve of a firm under perfect competition. (8,7)
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What do mean by monopoly power ? What are the s.ocial costs of
monopoly ? o (15)
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Write short notes on any two :

(i) Indifference curve if two goods that are perfect complements
(i) Minimum support price policy of the government
(iii) Shut down point

(iv) Derived demand (7.5,7.5)
for=sl J1 W wfer oot ford

(1) w@ﬂmw,uﬁﬁa@@q\m%w%’

(i) WHR = e i = Ay

(iii) wF =1 & fag

(iv) =Iea=t =i

(1000)




